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LK 5,6,3,8,5,9 « 4 o HRERRYER » [iymbRH T HE R | 6 — m | K
Consider the data 5,6,3,8,59. Let o be the standard deviation and m the mean

deviation(average deviation) of the data. What is the absolute value | g* — m | ?

(@) 0
(b)

By | =

(c)

Ba |

(d)

(e) I'] j—’%‘f ZE None of the above

[l ]

20RPHEEF () = (32— 1)3(x* + 5)* & x=0 fURKIIff -

Find the derivative of the function f(x) = (3x— 1)*(x*+ 5)% atx =0.
(@0

(b) 25

(c) 30

() 225

(e) I'] j—ﬁ ZE None of the above

3AFEE v =27 — 3x — 47 (3, —4)PUTIRUL L o T} LT ol R AR
Let L be the tangent line of the curve v = x*— 3x—4 at (3,—4). Find the x
coordinate of the point of intersection of L and the x-axis.

(a) ==

(b) —13

(c)n

) 3

(e '} J‘ﬁ ZF£ None of the above
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40P [ LA R R 2% + 4y® =5 ARV
Which of the following equations represents a tangent line to the ellipse x* + 4v* =5 ?

@x+y==—

b) x+y==
() x+y =1
() x+y=>

(e) I'] _HF“, ZE None of the above

SFIHIE AR T IR g 35 J T ) O oA -
How many different ways are there to write 35 as a sum of consecutive positive integers.
(a) 2

(b) 4

(c) &

(d) 8

(e) I') _HFT ZE None of the above

6. [P HERL 4+ 1 pUPUT R
Which of the following is a 4™ root of 1 + ;?

B In , . 3m
(a)y2 (cos— +isin —]
L 18 16

(b) Eyi[f:os&—n +isin E—T]

\ 18 1s)

s = im . . IE
(c) V2 [:cos ;T isin 16)

£ rae ™ L fgin o
(d)\E[iuc:rsm hsmmj

(e) I'} _F’FT ZE None of the above
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T | a+ 1| +3 | x—2| <6 = EHI?
Which of the following statement is equivalentto | x+1| +3 | x—2| = &?

()2 <x<3

b)l<x<c™

() 1< x<3
d1<x<

(e) I'] j—ﬁ ZE None of the above

8.4 AL BN B - - YN A B E RV (L A VAL E) B
= o ] AR S SR R 7

Let A be arhombus and B a square. If 4 and B have the same length for their sides,
but the area of A4 is half of that of B, what is the ratio of the length of the long
diagonal of 4 to that of the short diagonal of 4?7

(@) z-— *.;'E
OF

(C) \,‘E
(d)y2++3

(e) I'] j—’%‘f ZE None of the above

9.$J C ELIHAE 4x® +4)° - 200 +4y +18 =0 A S pulB > 1) L t‘u{ﬁﬁ@gr
0(0.0)% C I EABIUIsL - BB OffsoFig: -
Let C be the circle given by the equation 4x> +4y> —20x+4y+18=0, and let Lbe a

straight line passing through the origin O (0,0 and tangent at a point B on the circle C.
Find the distance between O and B.

() =
(b) 2

w18
-

(©)

VET
-

(d)
(e) I'] j—’%‘f ZE None of the above
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10. 4 0 xy,zEL = W A o TR (x+ y+2) KX yz iy BB ?

Let x,y,z be indeterminates. After expanding, what is the coefficient of x’yz in
(x+y+2z)?

(a) 250

(b)500

(c) 1000

(d) 2000

(e)l] J‘ﬁ ZE None of the above

11— g3 FlE g OB sRl ) o = B SR o P gl 3 pliVE g i (- v flaf
R » B SRy R R % )7

There are 5 balls in a box with two of them new and three of them old. If we take two
balls out from the box, one at a time without putting them back into the box, then
what would be the probability of getting two new balls?

OF:

(e) '] _FJF“, Z[E None of the above

12. @?xy,ztuféﬁ%(’ ikl xy =z,xz =2y, ¥ yz=4x - Ml HLLx+y+2?
Suppose that X, V,Z are positive real numbers satisfying
xy =z,xz =2y,and yz = 4x .Which of the followingis x+y+z?

(a)2++2

(b) 2+ 2v2
() 2+ 342
(d) 3+2v2

(e) I'} j—’%‘f Z[E None of the above
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x—2y+3z=6
13.4 gl (x,9,2) r’gf}?‘;‘ YRR 20+ 3y —42 =20 PR Fx+y+z
3x—2y—5z=46

¥ —2y L+ 3z=68
Let (x,y,z)be the solution of the system of equations {2x + 3y — 4z = 20. Then
3x—2y—5z=¢6

X+y+z is

(a) 14
(b)15
(o) 16
(d)17
(e)I] _HFT Z[£ None of the above

I -1 1
145 d=\a 1 3| MYIREAAS R
3 4 b
I -1 1
LetA=|a 1 3 |.Which of the following makes A an invertible matrix?
3 4 b

(@) [a,b) = (0,24]

(b) (a.b) = (6.0)

(c) (a,b) = (1,10}

(d) fa.b) = (10.1)

(e) I }_F’FT ZE None of the above

15. | V= f(x)ﬁt%ﬁ"ﬁfﬁhf b, a <b, 2 EFTE xela,b], f(x)>0 o pHIIREL
y= f(x) y=0,x=a*x= bF’?l:EJ'LEJEﬁ’rEEFt”E'A IR e (i S M
x-Hli g i Efjb‘,ﬁ@?g pfjﬁgi‘;ﬁ?

Let y= f(x) be a continuous function defined on the closed interval [a,b],a < b,
with f(x)>0 for all xe[a,b]. Denote by A the region bounded by the curve
y=f(x),y=0,x=a, and x=>5. Which of the following gives the volume of the

solid generated by revolving A along the x-axis?
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@) 47”f(X)3
b4 N
() ], =/ ('
(© Lb 7rf(x)2 dx

(@) [ 272/ (x)dx
(e) I'} _FJF“, Z[E None of the above
16.f1ltry = X2 EEX-ITE O <o < 1 AR AR PO I A

The area of the region between the function y = x’¢* and the x-axis for 0<x<1 is

@o

(b)e —2
(© e -1
(d)2e -1

(e)I'] _FJF“, Z[E None of the above

2x—1 - - " cr g

17.9 f(0 =" = Pl E¥5 £ 00 pURPAimERe

Let f(x)= 2x _11 . Which of the following is an asymptote of the graph of f(x)?
%—

(@y=-2

(b)x=1

@y=1

(dx=2

(e) I'} _FJF“, Z[E None of the above

T

18.@?(1%* (ISt fﬁﬁ[gl'(f(x)zasinx+%sin3x T ng BLERp i o Plla 3
72 [y R AL 1 1 2

. 1.
Suppose that a is a real number such that the function f(x)=asinx +§sm 3x has an

extremum at x = E . Whatis a ? Is the extremum a maximum or a minimum®?

(@) a=-2 > #| ffi minimum (b) a=-2 > il maximum
(c) a=2 ] il minimum (d) a=2 > #~*ffi maximum
(e) I j—ﬁ ZE None of the above
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19.4) f(x)=x" =3x+3 = T H
Let f(x)=x"—3x+3. Which of the following statements is correct?
(2) FUA RV, A EYED
The local maximum of f(x) is positive and the local minimum is negative.
(b) EAG e g, Ady L il
The local maximum of f(x) is negative and the local minimum is positive.
(c) iy~ Ay - fifl [ﬁj FLET
Both of the local maximum and local minimum of f(x] are negative.
(d) Ay A | T
Both of the local maximum and local minimum of f(x] are positive.
(e) I j—’%‘f ZE None of the above

—
P iRt sy (10
20U E T 17

—
Which of the following numbers is the closest to N!IE ?

(a) 0.912

(b) 0.930

(©) 0.953

@ 0971

(e) J‘U—’ﬁi’[é None of the above

21:.&J a,b,ctli— = FIpu= @i - f@?ab +bc+ca=2 f’ﬁ A=a+b+c > MIiF
AL 2

Let a,band c¢ be the lengths of the sides of a triangle. Suppose that ab+bc+ca =2,
and 4 = a + b+ ¢ . Which of the following is correct?

(@ 1= 4 =45

(b) 2 A

M

V6

)

A 3 10

M

(©)

-
[}
)

(d) V10 = 4 < 15

(e) I j—’%‘f ZE None of the above
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222 BB RIER s SRR R AL 10 fOZ T SR 2

How many different triangles are there with the lengths of the sides being integers, and
the longest one being 10?

(a) 25

(b) 30

(c) 40

(d) 55

(e) I j—’%‘f ZE None of the above

230 [P EBE A ROSS AR R R E RS 1 YA R AR
- 8 TR ?

There are 8 balls in four different colors, with two balls in each color. If they are to be
placed in a row, and no two of the same color are placed next to each other, how many
ways can it be done?

(a) 320

(b) 482

(c) 576

(d) 864

(e) I'] _F’F“[ ZEE None of the above

m+n

24 m L R YA

2 r—y
e rmn+n’ 13 HI Sl & fimean?

m+n

2

————— =—, what could be m+n?
m +mn+n

Letm and n be positive integers. If

(@ 6
(b) 7
(© 8
(d 9

[

(e) }_F’FT ZE None of the above

25,42, =3 0 2 Hin 2 1, =22 ¢ flim, o Jr}—*f 9

Letx, =3, and ¥, .,=¥>2forn>1.Then lim,_ — = J;*—*:} is?
1% Fa

(@) /5 (b) Ve (c) V7 d & () J\U—Jﬁ ZE None of the above
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